
(41

(e) urgk6 oldq utcfrq rq-qrRq q{ 3rrdtfla
fffusr

Btct€fi

fr*fr-gt t ftA 6kdr ff from-qrn c{ q6

tqvqdff&qt
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The figures in the margin indiate full marks
for thc questions

t. ffifud c{,i } w{ qf erfl t Afrq : lxro=lo
(m) H uk€ + 3Tretrd 61 CFsi '*<,rrin

qra' ilc frcr Er?

(u) ar*< Wn f fd{ i frq l<.R 6 rc-a1q 6
enl

(rr) 'vor+a' q-66p *.sfr'dl +{ t?
(s) qftEsldl ?ET-6lqqm ff ryu rnw er f?
(e) tfrmrdq frs 6E 4l 'qfui a,rq *,r *a' +-tr

orm t?

(q) T{i< rF{d f{d gfi 6rq ul crc ftfuqr
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2. ffifua wn + 3rft ri{Hs srr {fuq ' 2x5=1o

(o) Vw il * wgvn M qrk€ * cen sfr 3rt{

r+6 Ffr t qrq ftfuqt

1e) ;ffi fts rr"n'* q.cTt sE i? rrA Un
sr qr+Aq ffftql

(,r) rfit{rg ff fft +r rrmO€ m{t {A frc .{r,i
i f+{rBa fuq.rqr ?, ftfuqt

(s) q-{i< fuq +rqqrq + 3id,fa sna t? ra-ff

\'* rS€ Fft +r crc ftfuqt

(e) i USG grcrqrfi 6M * il*S€ Aec, n
eRiprfu{EtsiaridS3TOt

3. Frqftfun vfil i i tnd qn * +iflqs ctt fr&q 
'5x4=2O

(6) frflc-d frErn t 3Trksrd *l :IFFF{q f*e !-mR

ftfl t, ss qt r+nr srftq t

(u) urRmrda {TS srkfl q {*q t 3tT+mqn

fffrqr
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(.r) H srk€ t q<rq fi tr c{ c6 trq"ft yqd
fffrqt

(u) ufu-+re ff {rcqfu vnqr ff cW Hqnrcn
a rlo fffuqr

(s) M srk€ * srrgft-+ +m + frqi*a c{
r+M clftqr

(s) 3Trgh-6 aqr 3Trgn-rdr qr ts++r fiftql

+. ffifuo cl-n * sq{ rm ffcs : 1ox4=40

(s) ffd srtrd + 3nksrd + frqi*l q{ friYn
Crdrii + qd fi qfrqTr ffftsr

3I2r.[

ftd sTkfl + 3nk*ld i sqdtq €rRfu6
qrcBrd c{ r*nr <rfrqt

(o) qffiq orqtnael fi srqru ffiq-ard qt
qd-+qro frftqr

Srerql

qqord-+ qFs s{ia-dr } esq ct ft+q-{
frftqt

('1) tiffird + r+&d drl t? qs' {<{ t ftI}r{
Grdrn + qd q1 6-qq frftqr

3{et€n

tftkq q'rq +l 6kd{ ffiord ff t+ qrr

B;4isr ffeql
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(s) nq=is {fr i kS srkd + e{rgn-6 6rd 6l
eTrtq 6q t qnr t?

(v) '&+n+re' rcr*rar * rqfudr st{ t?
(s) qftrdrR"r $ rka q6 +r+5fr ot afiSe

ff&qr

(e) R-{fi qr tor+sn frs ffi +1 Ew rn?


